
Vocas light weight base plate with soft shoulder pad

0350-1900-02
Version Date: 27/02/2024 11:35

Vocas Products info@vocas.com vocas.com Page: 1/1

Item No. Part Number Qty Description

1 11.500.01 1 LWBP base plate chassis

2 11.258.01 3 Magnet CSN-13

3 09.204.01 3 Screw M2,5x8 DIN 965H ZnZ

4 02.008.02 1 Camera screw 3/8 UNC" (0400-0003)

5 02.007.02 1 Camera screw 1/4 UNC" (0400-0004)

6 11.502.01 2 Adhesive cork 19

7 09.026.01 2 Spring 6,5x5,5xL10

8 09.016.03 2 Nut M4 for winged nut hexagonal

9 11.007.01 2 Ring 4,3x8x0,5 Din 433 St-Zn

10 11.008.04 2 Winged nut hexagonal small

11 09.025.01 2 Screw M4x30 din 965 A2

12 11.501.01 1 Clamping block LWBP

13 768001 2 Screw M5x16 DIN 912 A2 70

14 03.034.01 1 Alignment card AC-002

15 774002 1 Unbrako DIN911 4 kort

16 0350-9210 2 Pipe 210 mm

17 0350-2320 1 Soft shoulder pad for USBP-15 MKII

15 14
17

3

2

1

6

16

5
4

13

98

10711 12


